Appendix B:  Metric System Conversions
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	Tips for Metric Conversion:

1. When converting from a larger unit of measure to a smaller unit of measure (e.g. from kilometers, km to meters, m) move the decimal to the right.  This results in a larger number.

2. When converting from a smaller unit of measure to a larger unit of measure (e.g.  from m to km) move the decimal to the left.  This results in a smaller number.

3. See below to determine how many decimal places to move.

	Figure 4.  Metric system relationships


Determination of the number of decimal places to Move

The number of decimal places moved is equal to the magnitude difference between the exponents of the two units of measure. The exponent scale below illustrates the relationship between exponents. 
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Examples
1. 9.25 km = ?? mm

· km to mm is a large to small unit conversion, so the decimal must move to the right.

· The magnitude of difference between the exponents of each unit of measure is 6: 

 km = 103, mm = 10-3; Therefore: 3 - (-3) = 6

· So the decimal place moves to the right six places giving 9,250,000 mm (or 9.25 x 106 mm)

2. 450 m = ?? mm 

· m to mm is a small to large unit conversion, so the decimal must move to the left.

· The magnitude of difference between the exponents of each unit of measure is 3: 

m = 10-6, mm = 10-3; Therefore: -3 - (-6) = 3

· So the decimal place moves to the left three places giving 0.45 mm 
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1 km  = 103 m  =  1000 m







   1 m  = 100 m







 1 cm  = 10-2 m  =  0.01 m







1 mm  = 10-3 m  =  0.001 m







1 m  = 10-6 m  =  0.000001 m







1 nm  = 10-9 m  =  0.000000001 m
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